0l /Ay

IMPORTANT:

VERSA COMPUTER MOUNT

Compatibility: VERSA 200, VERSA 500, VERSA SUM models.

PLEASE COMPLETELY UNDERSTAND ALL USER INSTRUCTIONS AND SAFETY INFORMATION BEFORE USING THIS PRODUCT. AS WITH ANY HIGH TECH PRODUCT YOU WILL NEED TO
ROUTINELY CHECK FOR LOOSE HARDWARE, CRACKS OR OTHER DAMAGE AND REPLACE ITEMS AS NECESSARY. DO NOT USE PRODUCT IF ANY OF THESE CONDITIONS EXIST.

HARDWARE TOOLS REQUIRED
2 mm Hex Wrench
FOR TORPEDO VERSA FOR TORPEDO VERSA 3 mm Hex Wrench Top
CARBON MOUNTS: ALUMINUM MOUNTS: Torque Wrench up to 2.8 Nm (25 in Ibs)
E i | POST
M4 x 10 mm M4 x 10 mm
Flat Head Screw (x2) Button Head Screw (x2) fo— CLAMP

COMPUTER MOUNT INSTALLATION
TOOLS REQUIRED

3 mm Hex Wrench
Torque Wrench up to 2.8 Nm (25 in Ibs)

1. Place the Torpedo Versa Computer Mount at the front of the Torpedo Versa
Mount directly underneath. The base of the computer mount should fit snug
against the front edge of the Versa Mount. Align the two threaded holes
with the mounting holes on the Versa Mount.

2. Find the appropriate mounting screws for your Torpedo Versa Mount. If you
have the Carbon mount, use the included M4 x 10 mm Flat Head Screws.
If you have the Aluminum mount, use the included M4 x 10 mm Button Head
Screws.

v

FOR TORPEDO VERSA ALUMINUM MOUNTS:
M4 x 10 mm Button Head Screws

TORPEDO VERSA CARBON MOUNTS:
M4 x 10 mm Flat Head Screws

3. Insert each of the screws through one of the two mounting holes on the
front of the Torpedo Versa Mount and into the base of the computer
mount using the 3 mm Hex Wrench. Hand-tighten each of the screws.

4. Tighten each of the two mounting screws to 2.8 Nm (25 in Ibs).

5. Adjust the computer mount to the appropriate
height for you by moving the post up and down.

6. Tighten the side screw to lock in place and
torque to 2.8 Nm (25 in Ibs). The screw
must be fully tightened for the computer
mount to stay in place.

7. Attach the computer and rotate as needed
to achieve the preferred angle.

WARNING: Large top bolt already set to
factory standards, do not adjust.

=

FOR GARMIN® MULTISPORT WATCHES & WAH00® COMPUTERS
Note 1: Torpedo Versa Computer Mount is compatible with Garmin® & Wahoo® bike computers and watches. Optional adapters are
available to purchase separately for Polar®, and strap-mounted computers.

Note 2: The Computer Mount’s default position will accommodate Garmin® bike computers - no adjustment is necessary.

TOOLS REQUIRED -
2 mm Hex Wrench
Torque Wrench up to 1.1 Nm (10 in-Ibs) n

1. Remove the two screws at the top of the computer
mount using the 2 mm Hex Wrench.

2. Rotate the holder 90 degrees.

3. Reinsert the screws and tighten.
4. Torque both screws to 1.1 Nm (10 in-Ibs).

WARRANTY

Limited 3 Year.
REV 11/2021



